Scrial Number

3

Roll No. ....... v,
sETAe: | A
Total No. of Questions 23

Total No. of Printed Pages: 15+1 Blank

J-511

s & T W - 2023
High School Examination (Main) - 2023

e e
SOCIAL SCIENCE
(Hindi & English Versions)

Time : 3 Hours | [ Maximum Marks : 75

fags -
(1)
(1}
()
(iv)

(v)

(vi)

w1 s wfxamg ¥

wsTes 3 feg m Pt & waurhigds et g & I fafao

wys H® 1 8 5 0% 30 aqFa v ¥ | 9w aee wE 1 6% w2
95 9% 6 ¥ 23 9% ¥ faew feg mo ¥

g5 ®9% 6 8 17 7w wfowg Al wa ¥1 39 & = @ 30 5= &
waE Wed 9 2 o amafea ¥

g O% 18 & 20 9% @y 3A0g w31 I B e don 78 g B
gqE 9 9T 3 of% Frafea ¥

(vii) ugA ®9s 21 @ 22 we ¥ TdQ 9 ¥ T B oww @120 = ¥

wers Ui T 4 3% smafen ¥

Mii)wqmzslﬁmf&qnqﬁimmi:’qurum:

300

1JS11_ A S-6

! INARNINENEg ero.



Instructions :
All questions are compulsory.

(1) . .
(he instructions of question paper carcfully and wnte their answers.

(n  Rcad |

Gil) Questions from 1 to § are 30 objective type questions. Lach objective question

carries 1 mark.

(iv) Internal options are given in questions from 6 to 23.

(v} Questions from 6 to 17 are very short answer type questions. Word limit 1s

30 words. Fach question carries 2 marks.

(vi) Questions from 18 1o 20 arc short answer type questions. Word limit is 75 words.

[Fach question carries 3 marks.

(vit) Questions from 21 to 22 are long answer type questions. Word limit is 120 words.
Lach question carries 4 marks.

(viii) Answer of Question No. 23 should be indicated on the outline map of India as

directed.

| wh frew g fafam 1%6=6
Choosc and write the correct option :
(i) Prafafs ¥ 4 #w-m e gyl @ st & g 9 @
& a2
(%) wESgaa f@sEmd 3 & W 9w W ¥ wel AW @1 & e )
(@) wgEsha sfgand 7@ gea & faftae 5% o w Fg o E o
(7) w3t s & geq @ T foanm B b oohe sehifas o
o ko
() wgERehE ofrdreemd et sam ool i & feo Rrga dm owvd ¥
Which one of the following statements is not an argument in favour
of multipurpose river projects ?
(a)  Multipurpose projects bring water to those areas which suffer from
water scarcity,
(b) Multipurpose projects by regulating water flow helps to control
floods.
(c) Multipurpose projects lead to large scale displacements and loss
of livelihood.
(d) Multipurpose projects generate electricity for our industries and our
homes.
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(i) i A g R wee ko7
(3) o (@)
(g) W I (@) R
Which onc of the following is a leguminous crop ?
(a) Pulses (b) Jawar

(¢) Millets (d) Sesamum

(iii'}ﬁﬂﬂ'ém-mmm.mmﬁﬁﬁamﬁ?

(&) e (@) FoH

(|) uegfafTad e () ga drife

Which one of the following industrics manufactures telephone. computer,
ete. ?

(a) Steel (b) Electronic

(¢) Aluminium Smelting (d) Information Technology

(iv) B A ¥ dRew T -y -y IEY @RF § e st ¥
(%) #@ weq (@) WS
(§) TEa (z) wOT WA

Which one of the following states is not connected with the
H.V.). pipeline ?

(a) Madhva Pradesh (b) Maharashtra

(¢) Gujarat (d) Uttar Pradesh
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(V) iferas & FEA 9T EEE BN

() 1797 y
() 1799 y

(@) 1798 o
(@ 1796 ¥

Napoleon invaded Italy

(a) 1797
(c) 1799

(vi) et - 3T GEEICII UL

(1) 5 @d 1931
(@) 3= 1930

(b) 1798
(d) 1796 a
(@) 4 md 1932

() 2 wrd 1933

(B) 4 March 1932
(D) 2™ March 19330

(A) 5™ March 1931
(C) 314 March 1930

fraa et & gfd @i
Fill in the blanks :

(i) WﬁlﬁfﬁlSQOﬁiﬁ&Tﬁff—_Wma@#ﬁﬁ_‘%ﬂﬁﬁ |

In Africa. in the 1890s a fast spreading discasc of i

(i) ohma ama =

g W wmET W e

The average income is also called

(iii) ghras &= #

W HEr AT R |

The tertiary sector is also called the

(iv) &%

l'J'

ﬂﬁﬂrﬁmﬁmwmmmi|

Banks charge a higher interest rate on loan than what” they offer

on
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(V) a‘é‘fa:,m:ﬁ'tﬁaﬁ

I'he largd companics are called

{10

(vi) _._l‘_‘]ﬁ i wfed qu sty fasam b

\\-‘urslli({'{'\f —— is an age old tribal belicef,
\e

-

y  h s e 1%6=6
_ :
.G
(1) "t mE, a (i) whewa
O
(2) FhHW T (i) ™o H T
(3) FfrEcE T (i) 1919
W
(4) Tz e (iv) 1815
N
(5) = gl (v) &%
-
(6) g g ! (vi) eI
Match the correct pairs
O
A Ol B
N
(1) Automdbile Industry (i) Defence
| -
(2) Artificial Port (i) Steam Engine
F_l 'Ll
(3) Defeat @f Napolcon (iii) 1919
\O : _
(4) The Rowjat Act (iv) 1815
e .
(5) James w\;ll (v) Chennai
{6) Union (L:i;"st (vi) Gurugram
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#d | o e I %6
Write True / False :
(i) wwe= & o i & s A 9 & oftmre &

In democracy all citizens have one vote right.

(i) whEmn g N wfy @fm ow TEd ol &

Haryana State has the highest per capita income.

(iii) 7vem ®FE 2005 ¥ W) B oM

MANAREGA Act was passed in the year 2005.

(iv) ®wem v agh gas & |

Kolkata is a Sea Port.

(v) mﬁ1923ﬁwﬁnﬁ1ﬂmmaﬁa=;gxg&nl

In January 1923 Non-cooperation and Khilafat Movement launched.

(vi) Foredl ¥ 9% w0 TR F o AW W owm w1 zaea a1 |

The Intemational market for fine textiles was dominated by India till
the cighteenth century.

300

/3511 A S-6 6 B - PT.O.




§ us g/ grer ¥ sa feitan 1%6=6
Answer the followmg in one sentence /7 word

T gT Ui O #9 Heen €7

A government formed by an alliance of two or more political parties
1s called ?

(ii) T@ whr & 70w ¥, Rl dm awhor dsi @ o @ s gerE @k 0
What is the process called by which people: migrate from rural areas
to cities ?

(i) R Rwerl & wgw e @& ¥ v

What is the main basis of social divisions ?

(iv) fedl @ 29 & W O T Aoy A &

Name any two countries where there is strong democracy.

(v) WS W = 9l o s o @R & 5ed £ 7

A general government formed for the whole country is called ?

(vi) TR B T qu wee @ A @ ¥ B, #-d e v
IR ?

Which system of governance is best for maintaining the dignity and
freedom of citizens ?

6 dq wanrt ¥ W fafa | 2

Write the names of Biotic Resources.
sya | OR

gaquvig fawm & ¥ 7

What is the Sustainable development ?
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were firf) @ @ fasan faftrd |

-~

Write two characteristics of Alluvial Soil. O
Lo

sy [ OR N

QN

wz aEd fHQ ded b7

What is the Soil erosion

[ 2]

) !{Fﬁﬂ@ﬂaﬂféﬁﬁﬂ?ﬁﬂﬁm'ﬂﬁﬂ? ?
Bv what names is Jhuming agriculture known ?
yya [ OR
s o @ @ faswed fRed |

Wrte two features of commercial agricullure,

I~

9 Tabmir seam & 1 wrm (1 ic (o - l
Write two importances of manufacturing industry. |
sy ¢ OR
Y T F A JeNE fafeg )

Write two ill-effeets of ajr pollution,
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11

12

v aftaes @ amen @EE UfdEd @ WEEgW R
Why road transport is more important than rail transport *?

wuat | OR

v # mag @ TeET g @ A el
Name the longest highway tunnel in the “World,

1o

i

}

WrE g ® fhew wied emar wga ww e ko
{0
What percentage of India's trade is uurmjg’h the Seas ?

sy [ OR

g wicaE &1 EEET FE f F{:Tf[an|

[

When was air transport nationalized ? Write.

et @ fEe-fem el w1 o= w7 fefan

Which items were traded through the Silk-route ? Write.

sym | OR
2 ~ . " N _ .
g @ wW 9Ed @e-@d § @ ved g 5 o 4G
)
Which foods our ancestors did not have 300 ycars ago )
’ e
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13 w=a @) PPl 8=t & su o @ aEn oW ?
Why was London known as the finishing center ?
yyar /| OR
aga art ol § A @ nm ohewd omR W wed-wed @@ A 7

Why did the demand for labour fluctuate on a seasonal basis in
many industries ?

X 14 T8V & ga8 o BT 3w 8 fasfea g 7
In which countrics did printing technology first develop ?
¥ /| OR
e T A W & X e e few

What work did Johann Gutenberg do in the field of printing ?

IS Tw wwpfa & & qftom fafae
Write two consequences of print culture,

91 / OR
Bﬁaﬁrnﬁﬁq&mﬁmm&s#m%ml

Write the names of famous writers of 19th century.
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16 ﬁ?ﬁ%mﬂﬁﬁfasmﬁfaf@l I
Write two characteristics of Secondary sector ?
yym | OR
TS &= A ome & owaeR ¥ 7 fafag 1

What is the Tertiary seclor-? .Write.

17 @Oy Fufral we i @ e § 7
Where are multinational companies established ?
dgar /| OR
A UL FHuqa % oA fafed

Write the names of two multinational companies.

18 ot &= ol e a9 4 e fefao
Write the difference between Reserve forest and Protected forest.
Sqa / OR
T o g W wEnE & v o R w fefag

Write types and distribution of forest and wild life resources.

| ' PO
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19 mﬂnwma?lfﬁ?fhmmt!ﬁﬂﬂn?l

20

21

L)
Write three features of federal gystem.
N
‘i / OR
LEd

mmﬁmﬁismﬁﬁ:nﬂ‘q;}"mm 1992 ¥ werr mar fafam
v
A major step towards decentralization was taken in 1992 write,
"\.{‘_'5
N
N
O

@ ¥ i &1 oy faflad)

= .
Write the impacts of Globalization in India.

e

s /| OR
i ford 45 ¥ 49 w1 fefad
Write three functions of Reserve Bank of India,

M

{1

e fom o @ o w4 W o ¥ o

In which type of rock group are; minerals found °
i
L

duar /| OR

0]
mﬂmﬁraﬁmmm&:ﬁhm&&cﬁ%ﬁgﬂ|

Write four belts of iron ore found in India.
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Write four reasons for the rise of modern, nationalism in India.
O
| O'R;

WoJ

e

S W el & u R Riew | o

Write four views of Gandhiji on Satyagraha.

O
Ny
O
vl
23 Wd ¥ umfaw § Prefetea zaflsd -
(i) Hg1 T8 1
0
(i) B ‘-‘-'J]
L™
,L
(iil) QemEen

(iv) v - faomge - wege | aReeEA
Show the following in the outline map of India :-
(i) Narmada River

(i) Shillong

(iii) Bailadila &

(iv) H. V. J. Gas Pipeline

sua | OR

» T
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(i) @mh T
(it) fafwm
(i) fesgd
(1v) HHN
(i)  Tapi River
(i1)  Sikkim
(1i) Chitradurg

(iv) Kakapara
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